


H & 0o &8 AHSE B Al A
20234 % 204 LBES|IH ALt
M A4
B BB (SEUN AL/ 2T
o2l ot KXl2tel (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
At 27,135,122 35,722,735 28,587,613
= 150,000
= 4,055,000
& 2,023,500
= 20,906,622
SIM A (RELXIGNL/=XtH) 8,596,840 5,744,000 2,852,840
= 150,000
= 140,000
T 245,500
i 8,061,340
ot KA 2,283,400 1,932,000 351,400
= 150,000
Fay 140,000
& 245,500
= 1,747,900
K5t A2 (2x) 431,000 964,000 A533,000
T 215,500
o 215,500
401 AIEHIZSOHYI 431,000 964,000 533,000
&= 215,500
= 215,500
01 A& HI 431,000 94,000 A\B533,000
OMHULAD (R=LE)
81,000,000 x14] 81,000
& 40,500
= 40,500
OXLotA ZHIALS 200,000,000 14 200,000
& 100,000
= 100,000
OMHAHEl XI2aIE St=FHIALY
150,000,000 * 14! 150,000
& 75,000
= 75,000
SHEQIR oi& 52,400 68,000 ~15,600
201 etz A| 32,400 18,000 14,400
01 At 22yl 18,000 18,000 0
Odtaze| FBlX=
10,000,000 & * 14! 10,000
OotdIJAZH ZHxT
5,000,000 * 14 5,000
ORI &4 L A=Y
3,000,000 *14] 3,000
2 S22ZH| 14,400 0 14,400
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2A:

PSRN GFE’SUI(EES—JXIC—’.‘]H%’/#X}%)
&2l ol |2l (He|: A 2)
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
OEXF=IE B2E LANAEH S382=
1,600,000& x9& 14,400
401 AlIEHIL 2 OHHI 20,000 50,000 A\30,000
01 Al&H| 20,000 50,000 230,000
OotE QIAHZE A 20,000,000& 14| 20,000
XNgotd S X2 1,220,000 900,000 320,000
401 AlIEHIL 200 1,220,000 900,000 320,000
01 Al&Y| 1,220,000 900,000 320,000
Odtd QHHEXIE Y XD &X|
5,000,000 * 14! 5,000
OJIEM HUl(%==HH)
20,000,000 & %44 A 80,000
[OlelFSES YN 20,000, 0003 *6 4 A~ 120,000
OodlE S A2 Al 50,000,000 & 14! 50,000
O<ZE otatx X2t
200,000,000 & *14] 200,000
OHEEX 22| =& 50,000,000 * 14 50,000
OY & At=st3gedit 849
15,000,000 & 14! 15,000
OHOIE L2 2S At
100,000,000& * 1A 100,000
Odisd HYUAUISA
100,000,000& * 14! 100,000
OSHA HLUHUIBA
100,000, 000& =14 100,000
OZdHE NLHUISAL
200,000,000 & *14] 200,000
OLUAE oI =L ZBA
200,000,000 * 14 200,000
=2 FHUATZ IS XEHAIE &X 300,000 0 300,000
= 150,000
T 30,000
= 120,000
401 AIZHI 20| 300,000 0 300,000
= 150,000
& 30,000
= 120,000
01 Al&EH| 300,000 0 300,000
ORI FATZ X= XEAIE AXI(E
AKX, HEXF)
150,000,000 & *2JH A~ 300,000
= 150,000
= 30,000
= 120,000
ADIE HE22IAAE 2= 280,000 0 280,000
hag 140,000
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RA: 2t
A SIEEH(Z2ELXAINL/SRH)
&2l ol |2l (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 140,000
401 AIZHIL 20| 280,000 0 280,000
iy 140,000
= 140,000
01 Al&Y| 280,000 0 280,000
OAGHE Xs4+% HESAAE &EX
70,000,000 *4JH A~ 280,000
= 140,000
= 140,000
Aot JH| 6,313,440 3,812,000 2,501,440
Aot& QIRGH& 311,440 212,000 99,440
201 LBt AH| 10,000 10,000 0
01 AF222|H| 10,000 10,000 0
OASIEEH| #H| Xt=
10,000,000 14 10,000
A& HILL20Hb] 301,440 202,000 9,440
01 Al&H| 300,000 200,000 100,000
OAotE QIRGHZ AL
150,000,000& * 1A 150,000
O3t AGH™ HIZtAHISAF
100,000,000 * 14! 100,000
OTBAGHE HLHHIZA
50,000,000& x14] 50,000
03 Al 20HI 1,440 2,000 A560
OA5te CIKsHA ALY S20HY|
200,000,000& *0.72% 1,440
HOHA ASHHEHIAIY (REH (FEAY) 1,400,000 1,200,000 200,000
401 AlEHILE0HY| 1,400,000 1,200,000 200,000
01 Al&H| 1,278,000 1,200,000 78,000
OO ASHe AHIAIY
1,278,000,000 & * 14! 1,278,000
02 Zeldl 120,000 0 120,000
OZOH A0S HUIAFY 22lb]
120,000,000& * 14 120,000
03 AlIEE0HY| 2,000 0 2,000
OO ASHE HUIAIY 20Hb]
2,000,000 *14! 2,000
2RI ASHE ZHIAI (HEH) (HEAIY) 4,602,000 2,400,000 2,202,000
401 A2 H|ILL0HH] 4,602,000 2,400,000 2,202,000
01 Al&HI 4,400,000 2,400,000 2,000,000
OWSZE A5HA HHIAIY
4,400,000,000& 14! 4,400,000
02 Zeldl 200,000 0 200,000
O2E A0ot& HHIAIY 2ield]
200,000,000 * 14 200,000
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2A:
I‘I ZH
C,l»ol :

=iy
HEH(FELXGNLY/=XHH)
ot= &t

(etel: &)

S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
03 A& 20HBI 2,000 0 2,000
OOI2E AGHE FHIAY 2]
2,000,000 %14 2,000
Ol™ XIA=CHEH ASHZ2Z2ZA UM /THLHEIRY - B18E]) 2,166,700 4,000,000 A 1,833,300
= 1,300,000
= 866,700
IESIIIEEDN 2,166,700 4,000,000 1,833,300
& 1,300,000
= 866,700
)Xl%*@f’&' HI(SF THOH O &/ S CHA A S X2 ) (R EALS 2,166,700 4,000,000 A 1,833,300
& 1,300,000
= 866,700
401 Al HIZL 20| 2,166,700 4,000,000 A 1,833,300
& 1,300,000
o 866,700
01 Al&HI 2,166,700 4,000,000 A 1,833,300
OYULTHE (MK T) XILoHa A
2,166,700,000& x14] 2,166,700
= 1,300,000
= 866,700
ISY H5(DSYSR/E2) 14,202,697 22,216,511 78,013,814
o 3,815,000
= 200,000
= 10,187,697
&g 3HINA 1,085,931 229,931 856,000
WS XA 4,848 4,848
101 @124t 4,848 4,848
M IIRHMIZ2E2EXNSES 4,848 4,848
ONSHEA LAIAISG IR
80,800 «20H *3 4,848
C2ad DIRoH& 28,800 28,800
201 Lt AH| 25,000 25,000
01 AFR22|BI 25,000 25,000
(OISPIEE=4 100,000& % 10A 1,000
OZRUAHNZ SY+2E
6,000,000 *1A! 6,000
OF)SHIEEE 28 =44
18,000,000 14 18,000
202 04d] 3,800 3,800
01 2LHodY| 3,800 3,800
ok=z2d 2IR&E
20,0002 %401%353] 2,800
O=7 A OIR5HZ 2
20,0002 %201%253] 1,000
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A4t
N SE(WSLSF/E2)
T2 BN (EH91:E#)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
=zt x| 22| 16,283 16,283
101 2124H| 16,283 16,283
M IIHZ2E2ERSES 16,283 16,283
OSHEXZAF LAIAIGOIEA
130, 2643 #5010 %25 16,283
AEH Ol2AIE 22| 1,036,000 180,000 856,000
201 Lt AH| 16,000 10,000 6,000
01 AF222|BI 16,000 10,000 6,000
OMNENEZ EEE2RX 2X=
16,000,000 14 16,000
01 AIZHIL 2 HY] 1,020,000 170,000 850,000
01 Al&H| 1,020,000 170,000 850,000
OXNENEZ KX 22|
20,000,000& x14] 20,000
O2E4s N NENHEZ NE 2 A
1,000,000,000& * 14! 1,000,000
T HH| A 8,178,987 11,024,342 N2,845,355
iy 3,815,000
&= 150,000
= 4,213,987
=& S8 3,113,987 2,825,076 283,911
201 LetEAH| 95,860 70,000 25,860
01 AF222|HI 55,860 32,000 23,860
OZZAIYSE B1= 19,360,000& * 14! 19,360
OIENES MMLE
100, 000& <6 H *53| 3,000
O Z&H| dblgXts
30,000,000 * 14! 30,000
oxz 238+ &Y 3|
2,000,000 =14 2,000
OTzE+3 HEEH| 2|
500,000& *3H 1,500
2 3524l 40,000 33,000 2,000
O=Z=Z X2k S XI22/H](3CH)
28,000,000& x 14! 28,000
O HelH L 2222
1,000,000& = 12& 12,000
206 M=l 30,000 30,000
01 ZH=H| 30,000 30,000
O Z SN 2|
30,000,000 * 14! 30,000
01 AIEHIZL20Hb] 2,988,127 2,725,076 263,051
01 Al&HI 2,980,000 2,720,000 260,000
ODUEAB (M) U, YUOHF
et WRIESEHIL 150,000,000 =14 150,000




fA:

Fafsinl;
MM DSY AB(DSASR/C2)
o9l 2 Hbl Alg (eh9): 22)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
OANEY ng & RAEF=AY
1,000,000, 0003 14 1,000,000
OZZ2 TMFA(IH & &XE S)
200,000,00084 * 14! 200,000
OEE 24R (WML U Bl )
200,000,000& *14! 200,000
ORIAMNL E2RKES
100,000,000& *14 100,000
ORIEZZ AMAILS EXIAMG(EXIE, It
cag ) 100,000, 000& * 141 100,000
OUIZENZY(LTER)
400,000,000 * 14! 400,000
Ok=ZH N=XY 30,000,000 * 14 30,000
OS2 ZaXl A(Ruel, fEe| S)
500,000,000& *14! 500,000
OZZ /gy FHIAd(2el, 2axlel
g) 200,000,000 *144 200,000
ozE2sd(aE&Eel) 122 S2FHISA
100,000,000 * 14! 100,000
03 Al S 0HBI 8,127 5,076 3,051
OzZx FAEx ALY
2,257,500,000& =0.36% 8,127
SOE H2ER BRANY(EY SS-01RETL/7HI 3.815,000 4,800,000 985,000
)
= 3,815,000
401 AIEHIZL 20| 3,815,000 4,800,000 A985,000
s 3,815,000
01 Al&ZH] 3,815,000 4,795,200 2980,200
OZThHed SS~a2t &8 SEFIA
3,815,000,000 14 3,815,000
s 3,815,000
TE2S N SHEIAY 450,000 0 450,000
401 AIZHIY S0 450,000 0 450,000
01 AIEHI 450,000 0 450,000
OZZ2sd EHELIAY
450,000,000 * 14! 450,000
CHXlel & E XA 800,000 0 800,000
= 150,000
= 650,000
401 AlZHIL S OHHI 800,000 0 800,000
= 150,000
= 650,000
01 Al£H] 794,960 0 794,960
OUhXle! RAXISAH2023E ZRIKIeF IHaH
F X HLAS 300,000,000& *14] 300,000
= 150,000
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(etel: &)

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 150,000
OUXI2] wWEAXISAH2023E =0IXF XHaH
FQFXI JH AR (KEA)
494,960 ,000& 14! 494,960
03 A& =220HBI 5,040 0 5,040
OAELUI 5,040,000 =14 5,040
SHEZZ HUIAIY 1,305,355 8,264,960 6,959,605
T 50,000
= 1,255,355
sSHEEZ SHZHAIS 455,355 1,573,960 A1,118,605
= 50,000
= 405,355
401 AIEHILL0HH] 455,355 1,573,960 A 1,118,605
= 50,000
= 405,355
01 Al&HI 450,000 1,570,000 A 1,120,000
OB INIS (A=) MERIETZ HEZXHAIY
(K2 L IHLAIG X (KIH))
100,000,000 & * 14! 100,000
= 50,000
= 50,000
OZEINIS(AI=ZL|)MEIRIER ST EAY
(K22 L L AFS X (KHAI))
200,000,000& * 14 200,000
QT=LANTS(HE)=ZINE AL
150,000,000l * 14 150,000
03 Al 20| 5,355 3,960 1,39
OsHEEZZ SHLEAIY AZZ20H]
5,355,000« 14 5,355
HEL sHEEZZ S EAIS 700,000 0 700,000
401 AIZHIL 20| 700,000 0 700,000
01 Al&H| 700,000 0 700,000
OMHRS (HER|) sHEEZ EZFHAIY
700,000,000 * 14! 700,000
Ho2I~E &2 sHEZZINE S AL 150,000 0 150,000
401 Al HIL 200 150,000 0 150,000
01 Al&EU| 150,000 0 150,000
O2SU~EZ HZT = AAIEH
150,000,000 2 * 14! 150,000
A8 OIR6HZ 3,632,424 2,697,278 935, 146
FOI=RIGH2Z A 874,000 935,960 A61,960
201 Lt AH| 4,000 4,000 0
01 AF222lbl 4,000 4,000 0
CEZZRAANE= 4,000,000 x14] 4,000
401 AlIEHIZLE20HH] 870,000 931,960 A61,960
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=M 2L
HM: NEYL HE(WEXER/ER)
S ARS OIRHZ (St M)
= = - Jd L
2N - ZH - 2(3H) - MIRAI - BHES Oll hhoH %E_% HwES2
01 Al 870,000 926,000 /56,000
OFH=2|(4H8-1) tia=2 SXIZAt
20,000,000& *14] 20,000
OAt&2I(158) OIS0t A IA
40,000,000& =14 40,000
O&=C(72-1) th4+=2 HUISA
10,000,000 «14] 10,000
OHOt2I(503-8) =2 HXISAL
30,000,000 =14 30,000
@10t2l(361)H=2 HUISAt
25,000,000 & 14 25,000
OAEZ|(563-1) A=/I| ZA
20,000,000& 14! 20,000
O&EE2(270-3)l4+=2 HUISA
30,000,000 «14] 30,000
O&S2I(33B) A=At
15,000,000 «14] 15,000
QE0I2I(411-25) AFZ At
35,000,000 14! 35,000
OZ#el(51) sEXLE A
10,000,000 =14 10,000
OZel(234) Ottt SHEAX SHEIA
30,000,000& * 14! 30,000
OB E2l(320) 71 H SYHAXISA
30,000,000 14] 30,000
Octel oot B2 At
20,000,000& * 14! 20,000
OS2 (7T0HXILRA) A=4X SAH
30,000,000 14 30,000
O==0el(162-1) tH==2 SIS At
25,000,000 & * 14! 25,000
OFU=JoZ2AIE AANEAHEA(ELH)
15,000,000 «14] 15,000
OJIAZEI(147-2) U2 SXISAt
20,000,000& * 14! 20,000
OHXI2I(447-41212) HIE 22T A
15,000,000 & 14] 15,000
O&aZFel(585-1) th== SXISAt
20,000,000& * 14! 20,000
OAZZE2|(899-13) OIS0t LETAL
30,000,000 *14] 30,000
OE23e|(481-13) 5= HHISAL
10,000,000 & * 14! 10,000
Ot Fel(446-1 212) 52 B43Al
20,000,000 14] 20,000
ONdE2(215-14) s+ HXISAH
20,000,000& *14! 20,000
OFU=AANLAY HHBH(H=D)
10,000,000 *14] 10,000
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=K 28T
MM DEQ 2E(DEUSR/ER)
S ARS OIRHZ (che: &)
= = = Jd L
SA- B - ERI(E) - NISAR - BAS ey det HIDS
O==F2l(162-1 212) 52 ZEIA
35,000,000 14! 35,000
©2172|(185) s2EH Y s4+Z EXBA
25,000,000 14! 25,000
00 F2|(MHR) s2EE L S22 EX3A
35,000,000 =14 35,000
OA=2|(42) stia2 WS A
20,000,000 & *14] 20,000
OB (447) 5+ WANISA
25,000,000 14! 25,000
O=2l(253) =42 WHMBAt
25,000,000 3 14 25,000
OE0H2I(646) s+Z HRISA
25,000,000 =14 25,000
OdHel(457-4) OS2t =2 &XISAl
20,000,000 14] 20,000
O®ZI22|(61-2)0t= 0t FHIBAL
20,000,000 14 20,000
OEel(78) 0202 HEISA
20,000,000 & *14] 20,000
OF212/(304-1) =2 ZHIBAt
30,000,000 * 14! 30,000
QA2 (135) Hiz=2 &EXIEA
20,000,000& 14 20,000
O 1Wel(44) 2 &A= AXI2A
20,000,000 =14 20,000
O35t=2l(460-9) 1= AXIZA
20,000,000& *14] 20,000
AE JIBFAIA S AR 2,758,424 1,761,318 997,106
401 AIEHIL20HY| 2,758,424 1,761,318 997,106
01 AlEH| 2,750,000 1,755,000 995,000
OAFHZ ANEUW DlEsX24
200,000,000 * 14 200,000
OATZAIE 215=7 & HUIAZ
200,000,000 =14 200,000
ORINHEURCH AR BSAY) BHE
A 100,000,000 *14] 100,000
O A& EBHE0IH=E
300,000,000 * 14 300,000
OL&2(420-8) UH==Z HUISA
50,000,000 & 14! 50,000
ou=el(2069) P2 s= SHE2A
50,000,000 & 14! 50,000
O3tel(665) A= L =23 Al
50,000,000 *14] 50,000
OS2 =2 & H==3A
60,000,000 14 60,000
O3=x=del B+ AXI3A
50,000,000 & 14! 50,000
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=M 2L
oM DY HE(DEUSR/CE)
S ARS OIRHZ (St M)
= 1E Jd L
2N - ZH - 2(3H) - MIRAI - BHES Oll hhoH %E% HwES2
OFc| XY SFHTA
50,000,000« 14 50,000
OUXI2I(40)HE =B Al
30,000,000 14! 30,000
OFWE(7-1) YIEZZ HASAL
100,000,000& * 14! 100,000
OotEAL(578)HIE FHHIB A
20,000,000 & *14] 20,000
ONEZI (419 ME HA5SA
70,000,000 *14] 70,000
©2t21(35-3) =2 HXSAH
40,000,000& *14! 40,000
OotAH(239-2) === Ol&83At
40,000,000& =14 40,000
O=cl(144) 0t2td ZHISAL
100,000,000& =14 100,000
O&tERI(117) AW FHISAL
150,000,000& * 14! 150,000
OF22/(215) == HEXISAM
20,000,000 & *14] 20,000
OFX2I(37) A HHIBA
100,000,000 & * 14! 100,000
O& WL (3B)MIE A=At
50,000,000& =14 50,000
OZH2I(860-1) MIE MUl AAEHES
20,000,000 =14 20,000
OA=2|(543) DiEere HESAL
70,000,000 *14] 70,000
OASHD(20) AW EHEIA
50,000,000 14 50,000
QEoHcl(661) Hi=2 HBIZA
30,000,000 =14 30,000
OZ32l(64-1) SEEXHSAL
30,000,000 =14 30,000
O&ZFe|(58-2)tH+=2 AXIZA
30,000,000 14! 30,000
O3 E2lI(5%B)s2 EHEIA
50,000,000& *14 50,000
Oot&Hel(21)i+Z EXISAt
30,000,000& *14! 30,000
OFSe(722-52) <=2 HHISA
30,000,000 *14] 30,000
oZ=2l(426) =2 JUIAS
30,000,000 14! 30,000
OUIXI2I(237-3) =& ZEBA
10,000,000 14 10,000
OUHAHELI(LHB)HIE HA=IA
40,000,000& *14! 40,000
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A A4
M NEY SF(USLEF/E2)
Cl: AR 2IRGHE (E}_zr:_l-@%)
= = — SiE]
2M - ZH3H . H2(S) - HEAY - BES ] Pal el %E% Hus&
OALEL|(2802)Hi+=2 &EXISAt
30,000,000 & *14] 30,000
OYR2(234)s2EE B AL
30,000,000 & «14] 30,000
O OH2I(A28-6) L& B A
50,000,000& * 14 50,000
O2Z2I(252) 01Set2 HUISAH
30,000,000& *14] 30,000
O=222I(99) 020t HUISAH
40,000,000& *14! 40,000
O&Wel(123-1) OISt ZEZA}
30,000,000 *14] 30,000
OFA12(2%6) 52 ZHSA
30,000,000& *14] 30,000
OL=c|(5)==2 L&A
20,000,000 14 20,000
OS32(T)sZ2EEBA
50,000,000& *14] 50,000
Q=2 (1912 EXIBA
30,000,000& *14] 30,000
O AXI2|(B3)EEBA
50,000,000& * 1A 50,000
QH=XI2(59) =2 A=SAt
20,000,000 14 20,000
O A2I(3099) s2ZHIAH
40,000,000 *14] 40,000
OdHEL 47 T2EHESAF AAEAHEA
20,000,000& *14] 20,000
OHOE| 410 sS2EZHBAL
30,000,000 14 30,000
03 Al =0HBI 8,424 6,318 2,106
OAE JIBAIE SEAIY 20|
8,424,000 *14] 8,424
s (sElLb/ s - sF) 2,029,155 3,627,712 1,598,557
- 100,000
= 278,000
= 1,651,155
SSMAD|BE 2= 2,029,155 3,627,712 A1,598,557
= 100,000
= 278,000
= 1,651,155
=olAld KXl 45,800 50,000 A4,200
201 B2 AY| 45,800 50,000 24,200
01 AH222lb| 25,800 30,000 A4,200
O=clAl8EHI= Xl
15,000,000 3«14 15,000
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2N AL}
FH: =) BYSHSYHYLN/ 5 - 5E)
SHol: EMATIB R (o) M)
% I
2A-F3H-H2(3) - MRAY - BES Ol - %E% HwES2
o+2A& =4 IHIYXE
600, 00021 +3CH 62! 10,800
® ST 20,000 20,000 0
ox2lAEZ B2
20,000,0002114] 20,000
A2 %2IAE HES 513,355 372,016 141,339
401 AEHIL2THH] 513,3% 372,016 141,339
01 Al 510,000 370,000 140,000
Ox2IAE 22T U FHIAY
100,000,000+ 14} 100,000
OSUIPAIL HE L B2 RIH
20,000,0002414] 20,000
42INE FE BHIYD
40,000,000 14} 40,000
O5t=21(667) S42 HHIZA
50,000,000 14} 50,000
OAZF2I(720) th42 ZUIBA
100,000, 000214} 100,000
OFE2I(507) 42 FHIBA
50,000,00021%14] 50,000
ONBY LHSR IUIBA
100,000,000 +14} 100,000
OZ2/(263) BHYIZA
20,000,001} 20,000
OBIEA2I(450)5+2 WHZA
30,000,000 %14} 30,000
03 Al S2CHHI 3,355 2,016 1,339
OAIZ +2IAIE I+ S|
3,365,00021x14] 3,355
ARD 508 Bl 870,000 §79,69% £9,6%
401 AEHIL ST 870,000 879,6% £9,6%
o1 Alt 870,000 874,000 4,000
OmYR|(271) 542 HHIZA
30,000,0002114] 30,000
©I121(152) S42 FHHIZAH
30,000,002 14} 30,000
oFz2|(52-1) Z42 EXBA
30,000,000 14} 30,000
OAZ2I(120) B2 FHIBAH
15,000, 00081%14] 15,000
035122)(542) Z42 ZUIBA
15,000, 0002114} 15,000
0322I(30-1) S42 FHIZA
15,000, 00024%14! 15,000
©10121(387) =42 ZHIZAH
15,000,000 %14! 15,000
OUERI(2B4) S4E BHIZA
25,000,00024%14] 25,000
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SN A
HH: zg)|ptd (=l =Y - &)
Chol molMAT|E P
SIE!
SA - FB - S(S0) - HIRAY - BAS 0l &y e +
O&EZI(325-10) =2 ZEIA
20,000,000& 14! 20,000
OSHEe|(4AH5) B2 HXSA
20,000,000 * 14 20,000
O=3tel(250) M& ZHIZAH
15,000,000& * 14| 15,000
O&He(81-1) =2 HUISAL
20,000,000& *14! 20,000
OBH2(143-3) =2 EZXHIA
20,000,000& *14! 20,000
O34+H(55-1) =2 EESA
20,000,000& 14! 20,000
ONZel(88-1) 2 ZHEIA
15,000,000 * 14! 15,000
0sz2l(704) s2 ZHSAM
30,000,000& *14! 30,000
O02Z2l(162-1) =2 WHSAt
30,000,000& *14! 30,000
O&=22/(413-15) =2 WHBA
30,000,000 *14 30,000
oel(12) AE&XBA
15,000,000& * 14! 15,000
O42E(6N)=Z EEHSA
30,000,000 x14 30,000
OA+E SIIPHEHAAY =& MAILHS
A(E=LH) 15,000,000& * 14! 15,000
ON&EH(9387) === HHISA
15,000,000& * 14! 15,000
OUAE2I(HM0-4) 72 FHISA
20,000,000& =14 20,000
QUE™E2I(200) s4+2 EXISA
15,000,000 & * 14! 15,000
CLERI(6B) s+2 ESAt
20,000,000& *144 20,000
OJLEL(33B7) Ottt ZEHITA
30,000,000& 14! 30,000
O3 LA (534-3) 0tsord LA ITAL
15,000,000& *14! 15,000
OFe|(122-9) =2 AXISAl
15,000,000 & * 14! 15,000
OXFeI(29-1) D3t EEBA
15,000,000& * 14 15,000
O=gIIE HAAY SHER(S=H)
10,000,000& * 14! 10,000
OFXI2I(200-3) =2 EHIA
20,000,000& *14 20,000
OA=c(1B) s+2 AFSA
20,000,000 *14 20,000
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A Ag
A s (sHMSA s - 5F)
Pl sgdaDIe 15 (9 &)
= o SIE]
2A - B3 - HA(3) - MRAE - BHES Ol &k 2K %E% HnEZ
OXlel(57-1) s+=2 2ISA
15,000,000 14 15,000
OEEl(210-4) 23 S22 LYSA
25,000,000 *14] 25,000
oUsH2(107-1) 2 ZYSA
10,000,000 14} 10,000
cdsgel(197-1) s2 ZHIAM
20,000,000 %141 20,000
0=8cl(16) s+2 EXSA
20,000,000 14| 20,000
oa=el(6/62) s+= WHSA
20,000,000 14| 20,000
OZH2l(90) =2 ZESA
20,000,00021 14 20,000
0=23cl(128-1) s+2 WXSA
20,000,000 14 20,000
OX2el(24-16) 52 ZISAM
20,000,000 14 20,000
OX22(IB4)s=2 ZESA
20,000,000 %141 20,000
0852(R) =2 ZH3M
30,000,000 14 30,000
Mol X=X HHIA 300,000 0 300,000
s 100,000
== 20,000
= 180,000
401 Al HI R ROHH 300,000 0 300,000
[as 100,000
= 20,000
[ 180,000
01 Al&HI 300,000 0 300,000
OMHAS MR HHIAS (=)
200,000,000& %14 200,000
z 100,000
S 20,000
o 80,000
©QI7, ZOHM =Xl HISTHXIHI= (EAP) +ES
= 100,000,000& *14] 100,000
SAMAD[BE FHI(ZHI) 300,000 250,000 50,000
== 258,000
[ 42,000
401 AIEHI R ROHH 300,000 250,000 50,000
& 258,000
i 42,000
01 Al&HI 300,000 250,000 50,000
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A AL
BE: S|SB (SYHYLN/ S - 5E)
Pl sgdaDIe 15 (el & L)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OQRX 7 t7& ZXNHelArd
300,000,000 * 14! 300,000
= 258,000
= 42,000
SH™MAAY| (AL D) (DIEHIIEH 139,730 134,512 5,218
OlA229 (A& ) 91,876 84,878 6,998
QleA=29 | (A& n}) 91,876 84,878 6,998
101 @124 91,876 84,878 6,998
01 24 84,112 78,056 6,05
O=1U=2PE 10,9522 * 16 *480A1 2¢ 84,112
03 222 LI|HL) 22X %= 7,764 6,822 942
OEZE+& ZIUI2FFE
14, 376& x150%* 10«3 * 12& 7,764
Jl2dd(AL) 47,854 49,634 1,780
Jl2dd|(ALn) 47,854 49,634 N1,780
201 B2 26,354 28,734 N2,380
01 AF222| 8| 26,354 28,734 N2,380
Oget=2ZH| 14,390,000 & =14 14,390
O3 & 6,144,000 *14] 6,144
oYXtz 5,820,000 * 14! 5,820
202 O4H| 17,300 17,300
01 2LH0Y| 17,300 17,300
ORF =X J|20itl 17,300,000 14! 17,300
203 PR F=XH| 4,200 3,600 600
04 AL RFE| 4,200 3,600 600
ORMEBYYERF=4&H| 4,200,000 x14! 4,200
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